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NATURAL
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ALGEBRAIC EQUATIONS

Inequality sign words Open/closed dot | Arrow points to the

> Greater than Open right
o—>

> Greater than or equal to Closed right
>~

< Less than Open left
—0

< Less than or equal to Closed left
e
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TRIGONOMETRY

LESSON 1
4 } . V4 ) N\
Sine (sin) Cosine (cos) Tangent (tan)
2 %'OO/ 2
- — @ - —
%) ) %)
: % :
O 6 o 4]
Adjacent : : Adjacent
opposite adjacent opposite
hypotenuse hypotenuse adjacent
SOH CAH TOA
- AN AN
LESSON 3
The six trigonometric functions
basic reciprocal
sin(0) - ety 1= h
h sin(d) o
. R
cos(8) = 7 sec(0) cos(@) = a
o 1.
tan(6) = < cot(8) tan(@) = o
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RESOURCE 6

90° 60°
) 45°[ Y3 1 450
2 2
r=2
P y=13 30°
y=1
30° 0° 607 0°
o—> >
x=+3 b x=1 X
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RESOURCE 7

Test Term 1

GRADE 10,TERM 1:

RESOURCE PACK

QUESTION DESCRIPTION MAXIMUM MARK ACTUAL MARK
1 Algebra 28
2 Number Patterns 6
3 Trigonometry 16
TOTAL 50
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QUESTION 1 28 MARKS
1.1 Match each number with the definition that fits. Each number only has ONE definition

that fits BEST. (5)

a. 8 1. Natural number

b. 0,5 2. Integer

c. -3 3.  Whole number

d O 4. Rational number

e. V2 5. Irrational number

1.2 Simplify the following:

3
x —8
1.2.1 (X—Z) (2)
2
122 x+237x_4_1 (4)
X —X
X A2x+2
6 .3
123 —————= 4
27" 2" @

1.3 Solve for x in each of the following:

131 2x2+2x=12 (4)
132 2- 215 = X (4)
1.3.3 2*+3.2*1 =56 3)
134 4x-9<5x+4 (2)
QUESTION 2 6 MARKS

2.1 Consider the sequence: 10;6; 2; -2; ...
2.1.1 Determine the 5" and 6" terms of the sequence. (2)
2.1.2 Determine the n term of the sequence. (2)
2.2 Consider the sequence: -1;0;1;-1;0;1; ...

2.2.1 Determine the value of the 100" term. (2)
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QUESTION 3

3.1 State whether each of the following statements are True or False.
3.1.1 sin(x +2)=sinx +sin 2
3.1.2 —cos x = cos (—x)

3.2 WITHOUT using your calculator, answer the following:

sin30° —tan45°
sin 90° — cos 60°

3.2.2 If13sin 6+ 12 =0 and cos 6 < 0, calculate the value of 5 tan 6.

3.2.1 Evaluate:

3.3 Using your calculator, determine the value of 6 in the following questions:

Note: 0 <8 <90
3.3.1 3cos(6+10°) =1

3.3.2

50cm

A 30cm D 30cm B

Grade 10 MATHEMATICS ~ Term 1
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GRADE 10,TERM 1: RESOURCE PACK

Memorandum Test Term 1

QUESTION DESCRIPTION MAXIMUM MARK ACTUAL MARK
1 Algebra ; Exponents; 28
Equations
2 Number Patterns 6
3 Trigonometry 16
TOTAL 50
Grade 10 MATHEMATICS ~ Term 1
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QUESTION 1

1.2

28 MARKS
1.1 Match each number with the definition that fits. Each number only has ONE definition
that fits BEST. (5K)
a. 8 1. Natural number v
b. 0,5 2. Integer v
c. -3 3.  Whole number v/
d O 4. Rational number v
e. V2 5. lIrrational number v/
Simplify the following:
3
x —8
1.2.1 % (2R)
_ (x—2)(x" +2x +4) y
B x—2
=x2+2x+4 Y
2
120 X +3x—4 (4C)
X —x
_ (x+4)()c—1)\/_,I
T ox(x—1Y
_Xxt4 x
X X v
_ 4
=T V4
X ~A2x+2
6.3
123 ———= 4R
27°.2"° “R)
_2'3'3"3 v
3% 227 v

- 2x—x+2 3x+2x+2—3x /

=2232

=36 v

Grade 10 MATHEMATICS
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1.3 Solve for x in each of the following:
1.3.1 2x2+2x =12
22+2x-12=0 V
X+x-6=0 v
(x+3)(x-2)=0 Vv

x=-3 or x=2 v

+5 _ 1—
132 2—x45 =12% (4C)

40V -5x—-25V =4—-4x ¥

—-x=-11
x=11 v
1.3.3 2°+3.2""'=56
2°+3.2.2=56
2(1+3.2)=56 Vv

2°7=56 v

1.34 4x-9<5x+4
4x —-5x<4+9 V
—-x <13

x>-13 V

QUESTION 2 6 MARKS

2.1 Consider the sequence: 10;6; 2; -2; ...

2.1.1 Determine the 5" and 6" terms of the sequence. (2K)

—-6v and -10v

2.1.2 Determine the n term of the sequence. (2C)

4An+14 v V
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2.2 Consider the sequence:

2.2.1

QUESTION 3

GRADE 10,TERM 1: RESOURCE PACK
-1;0;1;-1;0; 1; ...
Determine the value of the 100™ term.

-1 vV

3.1 State whether each of the following statements are True or False.

3.1.1

3.1.2

sin(x +2) =sinx +sin2 False v

—COoSs X = cos (—x) False v/

3.2 WITHOUT using your calculator, answer the following:

3.21

3.2.2

3.3 Using your calculator, determine the value of 8 in the following questions:
Note:

3.3.1

. sin30°—tan45°
Evaluate: sin 90° — cos 60°

—1

|
N[—

—

T
2

=—1 Vv

If 13 sin 6+ 12 = 0 and cos 6 < 0, calculate the value of 5 tan 6.

a- 12
sin 6= 13J -5

(2P)

16 MARKS

(1K)

(1K)

X2+ (<122 =132

x2=25 19
13
x=5V

Stan 6=5(—Z) v =12

0<6<90
3cos(6+10°) =1

cos(6+10%) = +
6+ 10° = 70,53°

6=60,53° v
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3.3.2

GRADE 10,TERM 1: RESOURCE PACK

50cm

A 30cm D 30cm

CB2=502-302 vV
CB2=1600
CB=40cm Vv

_ 40
tan 6= 60 v

6=33,69° v
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